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degiskenler

# degisken tanimlama
sayi=5

sayi

5

sl1l=s2=53=100

sl,s2,s3

(100, 100, 100)
notl,not2,not3,isim,mantiksal=50,75,45.25,"hayri", True
notl,not2,not3,isim,mantiksal

(50, 75, 45.25, 'hayri', True)

type(notl)

int

type(not2)

int

type(not3)

float

type(isim)

str

type(mantiksal)

bool

(3, 1)

isim,soyisim,memleket="simeyra","¢oban","sanliurfa"

print(isim," ',soyisim,’' ',memleket)

siimeyra coban sanliurfa

print(isim+' '+soyisim)
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slimeyra ¢oban

isim,soyisim,memleket="slimeyra", "¢coban","sanliurfa"
isim,soyisim,memleket

('sumeyra', '¢oban', 'sanliurfa')

non non

kisi=isim+ +memleket

kisi

+soyisim+

"slimeyra ¢oban sanliurfa’

notl,not2=80,95
notl,not2

(80, 95)

type(notl)

int

type(kisi)

str

uon non

kisi2=isim+ +memleket+notl

kisi2

+soyisim+

TypeError Traceback (most recent call last)

Cell In[22], line 1

---=> 1 kisi2=isim+
2 kisi2

+soyisim+" "+memleket+notl

TypeError: can only concatenate str (not "int") to str

kisi2=isim+
kisi2

+soyisim+" "+memleket+" "+str(notl)

"slimeyra ¢oban sanliurfa 80'

not3="30"
type(not3)
str

int_not3=int(not3)

type(int_not3)

int
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